20

Vertex z (cm)

15

15 20

10
Vertex z (cm)

5,.

-20 -15 -10 -5

<= Q= Q
€ 1€ :

O H o .
[Tolud [ (To R [ [Te}
— N v N e

x x
o m Lo % . Jo
—A o i T —

> >
r [Te) e} =qLO

Ho o o
i [Te)  JuI0 : o
| | — 1
o o o
KN I xi
n LO Te)
B i 1T
Lininilds S S
MR ! I
(wrl) saoiian pabiaw 1oy (X Q)0 oney w (wrl) saamian pabiawi oy (A Q)o oney (wr) saoimian pabiaw ol (z Q)0 oney
|
o
-] _
e | £
(&) O
15 |2 g
— N = N

x Hl x
o .m pw% % Ho
— @ Wlo 9] —

> (etgx >

g 0 0
q
4
o m —
5 [To R
_ «
S
T
9
|
o T
./_
s! 1 =]
(wr) (x 0)o oney Un_.g_.an_.,v (wrh) (£ 0)o oney () (z 0)o
e
OO
[se's ]
o oo o
N = oo N =

£ oo 1]
S 0 " S
v Mu000 ...... 2~

X (Y x
=) ISR NN o g

o == )

> 83| >
i i °
S o

ivaaal

o ITe)
| _ T

S :v _ S
T i
n LO
T i
2 m RS
S I

—

Ad Jo} (wr) (x Q)o oney Ad Joy (wr) (K Q)o Ad Joy (wrl) (z Q)o

Vertex z (cm)

5

0



	Contents
	Page 1


